Unit 1 - Homework 4: Eclipses

In order to help you answers these questions, see pages 30, 34—35, 39, and 46 in Unit 1.
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1. In order for there to be a total solar eclipse, which day of the month must it be?
Circle (or highlight) the correct answer.

+ The day of the new moon

* The day of the first half-moon

+ The day of the full moon

* The day of the second half-moon

2. In order for there to be a total lunar eclipse, which day of the month must it be?
Circle (or highlight) the correct answer.

+ The day of the new moon

* The day of the first half-moon

+ The day of the full moon

* The day of the second half-moon
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